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400x600(170)H4M DI =

2 FZANMUAE H= 3 MIIZEFE HEGH NXE = A= JIE=2 A

o
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Ct.

-~ NE J}REE H= 3 M
- = = 0 kgf = ZolZ0 2o HNREEZ IIZEF2 olE2 RAIE
(2) Z5t= - C2p AHIIFS FERX E5E XE
1
= Va2 Cd G
p 5 P
OJIM, p @ ZE3t=(kgf/m? )
p = 0.125 kgf-s?/m* @ SIILE
Vd = 40 m/s CEADIE ES
Cd =0.8 shed A o=
G =1.9 P HAESEH S
p=;x 0.125 x 402 x0.8x 1.9
= 152 kgf/m? —) 150 kgf/m* ®& (E2uW EHII=)

(3) 23cIE

» 22232EQ S2EY w= 2,350 kgf/m?

1.3 IS ZE
(1) 223cE
» SAHDIEAE : fck= 210 kgf/cm?

» JI2(8)Y=2AS  : fca= 0.4 fca= 84 kgf/cm?

(2) ANCHOR BOLT

> 5lE20IRS e : fa = 1,200 kg/fcm?
- SEMOS va = 900 kg/fcm?
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400x600(170)H4M DI =

»H=3 MIJI2g&sF : W= 0 kof

bl
’_L—}

[D1=3D]] ’_L.‘
e AHO (mm) o+ (mm) =0/ (mm) T
a b at b1 h
A2t 400 400 620 620 600

> Wey = (a® + a;b)/2 - h -y

= (0.400 2 + 0.620 x 0.62 ) / 2x 0.60 x 2,350

E

1

= 383.8 kof

» MHBZ(Q 64 x 3 ea) Hall 2H

=( /4 x0.064%2 x 0.55)x 3 ea x 2,350 = 12.5 kgf

= 383.8 -12.5 = 371.3 kgf




400x600(170)H4M D1 =

3.2 Sot= = JIESF0C BEFHE 52 IHotW 10 % &=
D1 p1
Al L

H = 3 M
L D1 =90 mm
] D2 = 180 mm

H 1150

- A= 0.2 w

p2
UQ [2stz8s] [zezst3]

b = 150% 0.09 x ( 1+ 0.1) = 14.85 kaf/m
D, = 150x 0.18 x (1+0.1) = 29.7 kaf/m
P, =150% 0.20 x (14 0.1) = 16.5 kgf
P = (ptp)/2 H+Pg
(1485 + 297 )/ 2x 3.0 + 16.5
- 83.3 kof
3.3 E&
(@)
1% Py I ZEEQ
P, ASEQ
O : GIXBI YO0 0|2 2
e
@ : NESHD ABE0| 0|== 2
§ B HIBD B AIO|S| BioiOpE2
(1) EQrH~
2 p—
K, = cos™(¢-6) - 0.533

sin(®+8)-sin(d-a) )72

2
: [
cos“@-cos(0+8) - [ 1+ cos(6+8)-cos(6-a)

OIIM, ® = 20
© = tan'[(b, -b)/(2-h)] =10.39
a = 0 °
§ =®/3=6.67 °




400x600(170)H4M DI =

2
Ko = cos™(¢+6) - 2.109

cos’®-cos(0+8) - [ 1 = sin(@-8):sin(®+a) .,
cos(6+8)-cos(6-a)

GIIM, ® = 20
6 =tan'[(by -b)/(2-h)] = 10.39
a = 0
§ =-®/3= -6.67

P =¥ - h' K

1.9 x (0.60 - 0.03 ) x0.533 = 0.577 tf/m?

B
>
Il

1/6 - (2a;+a) - h' - p,

1/6x(2x0.620 + 0.400 )x (0.60 - 0.03 ) x0.577

0.090 tf
Pwi= Pa - cos(e+6) = 0.086 tf

PAV = PA . Sln(6‘|‘6) = 0.026 ft

(2) =&Y

Yy - h'-Kp

°
°
I

1.9 x (0.60 - 0.03) x2.109 = 2.284 tf/m2

-
o
I

1/6 - (2a;ta) - h' -p,

1/6x(2x 0620 + 0.400 )x ( 0.60 - 0.03 ) x 2.284

0.36 tf

Py = Pp . cos(@-l-ﬁ) = 0.355 tf

Pov = Po . cos(o+6) = 0.023 ft




400x600(170)H4M DI =

H 4 & Jlx=2 oHEHE

4.1 J0l CHE AE

V= W+ W= 0 + 371 = 371 kgf = 0.371 tf
+ H 2p; + '
wo=P P ey P b (A H) Py
2 3 Pt Py
. + 29. 3.00 . + 29.
:1485 97x[0.60+ ><2x1485 9.7 ]
2 3 14.85 + 29.7
0.60 - 0.
+ 16,5 x(0.60 +3.00 )+ 86 X%
= 118.8 kgf :m
b1 b1 - b h| b1 - b
Mro=V + Py - (b - ) + Pay - = Py -
r X 5 AV 1 PH 3 PV 6
0.62 0.62 - 0.40
= 371 X + 26 x( 0.62 - )
2 6
0.60 - 0. .62 - 0.
+o355  x 0.03 _ o3 0.6 0.40
3 6
= 197.1  kof - m
Mr 197.1
. = = = . > 1. Sl A .
FS Y 118.8 1.66 1.5 ( [Al) 0.K

Hr=(V+PA\/)'tan¢B+PPH

=( 371 + 5 )x(tan(2/3x 20 )+ 355 = 457.1 kof

Hr 457 .1
" FS = = = 531 > 1.2 (%4J]A S 0.K
FS ™ 6.0 (SDIAl)

4.3 XIEXIXH0l CHet &

Vo 0.371
A~ 0.620 x 0.620

g = = 0.97 tf/m* < ga = 20 tf/m? S 0.K
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Ml 5 Z& ANCHOR BOLT —*Z A&t

5.1 ANCHOR BOLT S=H3 E
(1) AF2 Anchor Bolt

> AER A 0 19 mm
> B2 : N= 4 ea
» Plate && : ¢ 350 mm w APZEOZ B4t =0.80= 280 mm
» Bolt 2t : CTC 170 mm
(2) 232IE ¥ Ancor Bolt SHAE
© HEH
V.= 0.0 kof
H =P = 83.325 kof
M=H2/6'(201+02)+P3'H
=3.00 °/6x(2x 14.85 + 29.7 )+ 16.5 x 3.00
= 138.6 kgf -m
@ S4ZE

hhkkhkkhkhkkhkkhkhkkkkhkhkhkkhkkhkhkkhkkhkhkhkhkhkkhkkkhkkhkkkhkkx

* CHECK OF STRESS IN RE-INFORCED CONC. =*
KAKRKAKRKRA KRR AR KR AR KR AR Ak Ak Ak khkhkkhhhkkhhhkkhhhkkx
100.8 kg/cm™2
1440 Kg/cm™2
9

ALLOW STRESS OF CONC.(BENDING COMP.)
ALLOW STRESS OF RE-BAR (TENSION)
ELASTIC RATIO ( n )

xxxx% SECTION OF RECT-BEAM or RECT-COLUMN s
<< INPUT DATA >>

Member B(cm) H(cm) d(cm) d'(cm)  As(cm2) As'(cm2)  M(t-m)

N(t)

4060  28.00 28.00 22.50 5.50 5.67 0.139

<< STRESSES >>

Member X Sc Sc' Ss Ss' Ref.
40%60 7.416 6.69 122

* @ OVERFLOW OF ALLOWABLE STRESS
# : NEUTRAL AXIS IS IN CORE




400x600(170)H4M DI =

» 2ZH2|E =2 : fc = 6.7 kgf/ecm® < fca= 84 kgf/cm® x 1.2(%tD|)
0.K
» Bolt Q1& 2™ : ft = 122 kgf/ecm® < fca= 1,200 kgf/cm® x 1.2(%J])

0.K

3 Anchor Bolt d&t=2a A&

H _ 83.325
N 4

= 21 kgf/sz <V,

V:

900 kgf/cm® x 1.2(%tJl)

0.K

5.2 ANCHOR BOLT OHEZ 0l HI&t

» Anchor Bolt &

2

X: As=2.83%5 cm® (¢ 19)

» Anchor Bolt S8 fo = 122 kgf/cm?

» Anchor Bolt & T =As-f, =286 x 122 = 345.9 k¢of
» 232E 238 @ T,=0.64 y 210 = 9.3 kgf/cm®*  x1.2(EI)
» Anchor OH 20| L o= ! = 5459

nt DT, Tt x 1.9 x 11.1

= 5.2 cm < A0 20| 23.0 ¢m

0.K






